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Since he can snatch it and bring it to him

OVERVIEW

The X723 surmises that according to ¥7ax " if half the n°>v was on the ground
and half on a post, and a person lifted the half off the ground, so even if a
second person later lifted half off the post the original person is 1P the
entire N°7Y, since he could have snatched it initially off the post. The &2
disagrees with the ">°Xy1' concept; however it seems if he snatched it off the
post (without anyone else taking hold of it), he would be 713p. through 71p
7727, Our MdOIN questions the effectiveness of such a 77237 7°1p.

nvoIn asks:
—yvun AYYNY NNANN 1T DYY DIVN D15 NP NINY NPNI ONT YNRUNT NN

It is astounding! For it appears from the X»3 that if he snatched it off the

post, he acquires it, etc. since he caused it to be lifted higher than three

o°rov; however this cannot be -
— DIYY 997 291 NIN D) 12 1PRY (3,03 97y TN YN 971071 29919 NIY NN

For why is this different from the case of a poor man who is cutting
olives from the top of an olive tree’, where the ruling is that concerning
the olives which the °1v throws to the ground, there is no prohibition of
stealing them (since they do not belong to the °1¥; for he was not 7217 them),

but rather one should not take away these olives only because of av»w 297;
not to cause strife. It is evident from that X723 that even though the "1v detached these
olives and they were lifted up more than three o°mdv, he is not 1P, since they will
eventually fall (for he is not holding on to them). Similarly here too, even though when
he snatches the n*v from the post, the n*2v is 'an 77vn%; however that end of the n*ov will
eventually fall, just like the olives.

Mmoo offers an additional proof that a 77237 which falls is not effective:
— (90 %M PNNND N1T WY K,NY 97 NP Na2) NP HTNN P9 199

And we find a similar case in X%ap 917 P99, where 721 states -
— MYIN NOMINTA 1Y ¥PI) 2109 09 19230 YV YO PN

One who threw a ¥%o of his friend into the sea the thrower is exempt

! See X,10 PwITR MdoIN that *"wn maintains three 0noY are required for 77237 and the N1 maintains that one
nov is sufficient.

* The tree did not belong to the "1y rather the *1v was permitted to pick the olives for it was n2w or 7XD.

? See the X3 there that the coin was visible on the sea bed.

1

TosfosInEnglish.com



27 "7 'oIn R, 0 2"2 702

from paying for the ¥90. And we established this in a case where the
thrower (did not take the coin from the owner and then cast it into the sea®,

but rather the thrower) banged it out of the owner’s hand’ and it fell into the sea.
— 91959 19101 DININ ¥ DY NNANAY NN 3PUN XY NION

It is evident from these two mn), that it is irrelevant that the article was
lifted (for in both cases he is not 713?), the reason he is not 721 is since it

will eventually fall. Here too even though initially it is "3 77vn", but eventually the
other end of the n°5v (which was on the 7y) will fall down, so why is he I1p?

nv0IN answers:
—*wn9n 1 IHNR 1192 DOINY NON INYT 901D U

And one can say; that here is it is different (from the other two cases of
the olives and the coin) for he is holding on to one end.

nooIn offers an alternate solution:
— NIND 2WN YR POY 19 DD TIIN 1IN NP 119 PNNIYWI 199N NI ) ON

Or you may also say that here we are discussing a case that when the n">v
will be snatched from the post, the n°>v is not so long that the second end

(which was on the 7Tny) will reach the ground; but rather it will remain
suspended in the air, therefore it is a 71’J|7.

Mmoo responds to an anticipated difficulty:
— 9$ﬂ:’:i7§1 ININANDT IPN 9190 D sﬂ):NP‘I (3,807 91 PN PN MY SNoYY

And that which the X773 relates in the end of 157 M P19 that XY said
to M 27; ‘go bang on the nest so that the pigeons will rise and you will

acquire them’. mooin explains -
— NYYNY BINYIDN NYP 9IY NAYINN NNV NNN 9N ¥ HY 1NN I BNN

There too it is different from all the other cases, since they were raised

* In this case the thrower would be 271 for he was 7P the coin when he took it away from the owner and
held it in his hand.

> In this case the thrower never took possession of the coin. He never acquired it therefore he is 9. This is
true even though the coin was lifted 'sn 79917, This proves that lifting 'an 75912 does not make a 177237 PIp if
it will eventually fall down.

6 [Others amend this to o°wX";7 11 'R.] Therefore it is considered a 777237 even though the other end will fall.
However in the other cases, the olives and the coin fall down, and he is holding on to nothing; therefore he
is not 111p there.

" However there the olive and coin fall to the ground, therefore it is not a valid 77237,

¥ a7 21 was given a nest of birds by 17°0 72 ™12 and he asked 2Xmw how he should be 717 it.

? Seemingly there too the young pigeons will rise for a moment (out of fright of the banging) and then they
will settle down again. Since he is not holding the pigeons and they fall down to where they were
originally, it should not be considered a ;17237 7°1p.
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higher from the level which they were originally'’, for they fly up a bit -
937 7Y
Therefore he acquires them even though eventually they come down again.

SUMMARY

A 17237 11p is effective if it cannot fall to the ground (after it was '\ 79912),
unless it was raised higher than its original position (then it is effective even
if it returns to its original position). Alternately it is effective even if it will
fall down as long as the 132 is holding it partly raised.

THINKING IT OVER

mooin distinguishes between the cases of the olives, the coin, and the n*7v
where if it will fall down it is not considered a 717237 (unless he is holding on
to part of it), and the case of the nest where he is 11 even if it falls down
(since he caused them to rise)."" What is the logic behind this distinction?"?

"% In the cases of the olives, the coin and the n*>v there was no 77237 higher that it was originally; we only
wanted to consider it a 77237 since by detaching it, the item was "\ 771%. In such cases there can be no
77237 (unless it is in his hand), however if he causes it to become higher (even temporarily), then it is
considered a 71772377, even though it will fall down eventually. See ‘Thinking it over’.

' See footnote # 10.

2 See 5 nIx 7"0.
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